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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022. |

First Semester
Economics — Core
STATISTICS FOR ECONOMICS —1
(For those who joined in July 2021 onwards)
Time : Three-..l;u‘ii‘xrs Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questio‘ns.

Choose the correct answer :
1. (ppenng Qsmgdulen  seiCeunm D_MiLIL{SEETIL|LD
D _GTemL_ddl Lig L]
(S) s samflsse
(<) snGpBUILSaHemTl 1

(@) Guiig
(rF)  Gadrelgsmar



A study which involves each and every unit of the
universe is called ———— method. .

(a) Complete enumeration
() Sampling
(¢) Interview

(d) Questionnaire

soauminigs  &QpEsse &@QApEsse
aranald SHSLILGEDSI. '

(=) Blapssa (=) CopréssgLen

(@) soaumiuubHo ()  ueBlaams

Random Sampling is also referred as
sampling. ‘ .

(a) Probability (b) Judgement
(©) Non-Probability (d) Stratified

2 Silveemar eenugl, Letall eSaurisemen
25 WaDPLILGSHSD @GLD-

(=) Hersdr

(<) euflensser

@) eflessd wpmb Hagsdr

() L eusnent
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A table is a systematical arrangement of
statistical data in

(a) Rows

(b) Columns

(¢) Columns and Rows
(d) Schedule

NG LD 10000 QUMTTS N GEET amieuens
eIt e

(=) 10 (<) 100
(@) 1000 (FF) 10000
A picture is worth ————— words.
(2 10 - () 100
(¢) 1000 ' (@ - 10000

&L 0F syref@almhs Qupiu@w Ceupurpaafier
. (Hse

(=) QRub (<) @6
@) r=flad ()  G@pay

The sum of deviations taken from arithmetic mean
18

(a) Zero () One

(¢) - Maximum (d) Minimum
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Gemausib, sreysald Gmbs Qoo - wiiQuey
sam&d(Hs.

5,12, 15, 8, 20, 32, 25, 40
(=) 8 (<) 20
(@) 17.5 () 14

Calculate Median marks from the following data:
5,12, 15, 8, 20, 32, 25, 40

(@ 8 ‘ (b) 20

© 175 @ 14 -

e ugaeear iy 55051 50, Sl efwssn 20
aefled sl (& srmefl ———— =y&io.

(=4) 40 (=) 10

@) 25 (FF) 0.4

T:f the cpefﬁcient of variation of a distribution is
50 and its standard deviation is 20, the arithmetic
mean shall be .

(a) 40 (®) 10

(© 25 @ 04
fgwéan_uu&ﬁélg;gm - - Hops
(@) &l B& syrad

(=) Qe fleva

@) gsreis @@ syns

(M) war
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Standard deviation can be calculated from

(a) Arithmetic mean (b) Median

(¢) Any average (d Mode

B, <3 erafléd, ureuerang ——— <BGLD-
(s)) WansssL e (=) Epreng

(@) Gonss () &WEET

If 8, <3, the distribution is

(a) Platykurtic (b) Mesokurtic
(¢ Leptokurtic (d) Symmetrical

QM SOCUST LITae CpLCam L eafled, Sibs
ureueien sgmafl

(=) @paeL &L oidlsh

(=) soL L Gonay

(@) WPps(&EE swib

()  @enflancvé&&E Fb

If a frequency distribution is positively skewed,
the mean of the distribution is

(a) greater than the Mode
(b) less than the Mode

(¢) equal to the Mode

(d) equal to the median
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11.

13.

PART B — (8 x 5 = 25 marks)

Answer ALL questions, choosing either Q) ov (b).

S M™NS.

RS

() yash@udar nusis@ed $ QAem@dgd

Summarise the importance of statistics.

Or

(@) uerell  Saugd  aaprd T2 WSS
wopd @ floe Slardsear
Caupiupigsls.

What is Data? Distinguish between primary

and secondary data.

(=) @O bV SiLLaamdar CeaissT wrdl?

Write the requisites of a good table.
Or . N
(<) yeafl Aeugiisar

u@gg,ms

Analyse the merits and demerits of graphic

presentation of statistical data.

(=) en pae sprefllian sarmwad wrat?

Explain the characteristics

average.

Or
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o) Garaypn  Sardisefid  Qnps QeLflew
sarsdlpa.

0-10 10-20 20-80 30-40 40-50 50-60 60-70 70-80
soQady 1 4 12 24 36 20 16 S 5

Compute median from the following data :

Value : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
Frequenev: 4 12 24 36 20 16 8 "5

14, (&) srowrer odsbd LHOID SISET Qasapeilener
Saramn Sarrssldnhs senssbs.

cravatasia aund (Qe.8) 1 120 122 124 126 130 140 150 160

pravateselid sarallass 1 3 5 7 10 3 1 1
Calculate quartile deviation and its

coefficient from the following data.

Height of students (in cms) 120 122 124 126 130 140 150 160
No. of students : 1 3 5 7 10 3 1 1
Or
(=) Qerras aealsr@ upd Amepliuy sr@g,us.

Write short note on Lorenz Curve.

Ivape Qurmsaieo Qs sLeoLs Gsuy
sawed (s,
.

.18.7.11, 4,6, 8

leulate I\ultl)blb from the following data.
S 11,4, G, 8.

Or
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(«my) eflerdsiucd gpowrs Garlegdar amssmm
PATAGES

Ixplain the different types of skewness
through diagram.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b)
Iinch answer should not exceed 600 words.

16, (o) ydriefluucder qpédu Laflad wrme;

Deseribe  the important functions of
statistics.

Or

(@) apheiLn varefl cAlaugruaer Ceafég
aperpamen cileund.

Discuss the methods of collecting primary
data.

17, (o) eMerdsiucth aegaughener Quirg oQfsonen
evdga.

Explain the general rules for drawing a
diagram.

Or
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Describe the types of classification with
example.

18, (=) Aenaimd efeaunhiseise wsd sarE .

VAIRTAINTS 7T 10 15 20 25 30 35 40
CTRNGE | 8 12 36 35 28 18 9
Find the value of mode for the following
data:
Marks : 10 15 20 25 30 35 40

Numbers: 8 12 36 35 28 18 9

Or

() Gareumd  eugrasalle  @@mpgy  HAHuLL
aavers sem®ly. sl (F srrefuler whly
34 wHUQL@T.

wd QLU 0-10 10-20 20-30 30-40 40-50 50-60
wnearauisalier 5 15 20 . 20 10
acrenlléms :

IPind the missing frequency from the
following data. The arithmetic mean is

34 marks.
Marks : 0-10 10-20 20-30 30-40 40-50 50-60
No. of students: 5 15 20 - 20 10
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190 (&)

Ceagd vfuluear ?:mf:)Qmmr ureIgIsE
50 Q& ermafl 0o20 &l Qedsd sravs.
28CSuarser:  0-10 10-20 20-30 30-40 40-30 50-60 60-70
oreratsean 5 12 30 45 50 37 21
FEr e &S

Calculate mean and standard deviation of
the following frequency distribution of
marks.

Marks: 0-10 10-20 20-30 30-40 40-30 50-G0 60-70

No.eofstedents: D 12 30 45 50 37 21
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Coals scored by two teams in a football
match were as follows.
No. of Goals scored in a No. of Football

football match matches played
Team ‘A’ Team ‘B’
0 15 20
1 10 10
2 7 5
3 5 4
4 3
5 2 1
Total » 42 42

Calculate coefficient of variation and state
which team is more consistent.

20. (@) Gaapn  darwsde  Qmps s
“wirsef an GarlLé Qs sansdps.
Bonun (. @ocsgde):  T0-80 8090 90-100 100-110

sbuQualisalen ar@reflsms 1 12 18 35 42
@amui (5. Gorssdod) - 110-120 120-130 130-140 140-150
soluafllsaliar camefsms: 50 45 30 8

Compute Karl Pearson's
Skewness from the follo
Profit (Rs. Lakhs):  70-80

: coefficient of
wing data :

80-90  90-100 100-110
No. of companies : 12 18 35 42
Profit Rs. Lakhs) : 110-120 120-130 130-140 140-150
No. of companies : 50 45 30 8
Or

Page 11 Code No.:10532 B



(<)) STEOLOTEILD LHmID @e_plene
<y LueL eoGarLé Q& sTems.
Ui 10psh Gapans  10-20 20-30 30-40 40-50 50-60 60558 Coarns

S @eud | 12 28 50 66 18 16 10

Find coefficient of Skewness based on
quartiles and median from the following

data:
Variable : Less than 10 10-20 20-30 30-40 40-50 50-60 More than 60

Frequency : 12 28 50 66 18 16 10
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